reconstruction mode

Uy ee epu/pe Ut et uh eh

ee - 85.8 - - 0.6 - 3.6

Uu 83.3 - - 0.3 - 1.6 -

eu - - 86.3 0.5 0.2 3.6 1.6

Te Te - 0.5 - - - - -

T Ty 0.7 - - - - - -

Te T - - 0.5 - - - -

Te Ty - - - - 3.0 - 0.2

Tu Ty - - - 3.3 - 0.2 -

% T - - - - - - -
g eTe - 13.3 - - 0.1 - 0.9
> eTy - - 55 - 0.1 0.2 0.4
é ety - 0.1 - - 5.0 - 3.5
UTe - - 7.4 0.1 - 0.7 0.1

HTy 15.6 - - - - 0.5 -

Uty - - 0.1 59.2 - 3.5 -
eh - 0.2 0.1 - 35.1 - 84.9

uh 0.4 - 0.2 34.7 - 84.1 -

Teh - - - - 1.8 - 4.7

Tuh - - - 1.8 - 5.4 -

Thl’l - - - - - - -

hh - - - - - - 0.1



